Chapter-6
Worksheet-1

Choose the correct option:

1.

What do you mean by the magnitude of population growth?
(a) The total population of an area

(b) The number of females per thousand males

(c) The number of persons added each year

(d) None of these

. Which one of the following state has a population density below 100

persons per square kilometre?
(a) Jammu and Kashmir

(b) Uttarakhand

(c) Nagaland

(d) All of these

. Which one of the following state has very high population density in

India?

(a) West Bengal

(b) Madhya Pradesh
(c) Rajasthan

(d) All of these

. Who is resource creating factors as well as resources themselves?
(a) Animals

(b) Human beings

(c) Plants

(d) All of these

. In how many years is the official enumeration of population carried out

for census?
(a) 5 years
(b) 16 years
(c) 2 years
(d) 10 years




. What is the average sex ratio of India as per 2001 census? (Level 2)

(a) 956
(b) 973
(c) 933
(d) 945

. Which one of the following state in India has a population density below

250 persons per square km?
(a) Punjab

(b) Haryana

(c) Chhattisgarh

(d) None of these

. A large proportion of children in a population is a result of:

(a) High death rate
(b) High married rate
(c) High birth rate
(d) None of these

. What is the main cause for the high growth of our population?

10.

(a) Rise in death rate

(b) Decline of death rate
(¢) Decline of birth rate
(d) None of these

Which state in India has lowest density of population?
(a) Punjab

(b) Chennai

(c) West Bengal

(d) Arunachal Pradesh

Answer the following Questions.

11.
12.
13.
14.
15.

What do you mean by population?
What is census?

What are the three major issues inculcating through the census?

What is the importance of the study of population?

Describe the distribution of population in India.




What were the causes of uneven population in India?

How does migration play an important role in population growth?

Explain the ‘pull’ and ‘push’ factors of migration.

What has been the impact of urbanisation in India? Mention three
features.

Why is ‘Age Composition’ considered as one of the most basic
characteristics of population? Explain.

How are the categories of people according to age composition

advantageous to India?




